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BACHELOR OF COMMERCE
(GENERAL) [B. COM. (G)]
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June, 2024
BCOC-134 : BUSINESS MATHEMATICS AND
STATISTICS
Time : 3 Hours Maximum Marks : 100

Note : (i) Question No. 1 is compulsory. Attempt
both Part A and Part B as directed.

(it) All questions carry equal marks.

1. (a) Answer the following (any four) : 2.5X4=10
(1) Construct a 3 X 4 matrix A:[aij]
whose elements are given Dby

(1) Find the value of :

o

(i11) Define inverse matrix.

P.T.O.
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@av) Ify =x.log x, find d_y
dx

(v) What is the difference between simple

interest and compound interest ?
(b) Answer the following (any four) : 2.5X4=10

(1) List out various measures of central
tendency.

(11) What 1s positive and negative
correlation ?

(i11) Define Price Indices.

(iv) Name the four components of time

series.

(v) What 1is the meaning of linear
relationship between two variables X
and Y ?

Part—A

Note : Attempt any two of the following questions.

2. Use matrix method to solve the following

system of equations using Cramer’s rule : 20
X -7Y =11
and 7X — 5Y = 25.
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3. Find & of the following : 5 x4 =20
X

@ y=("+5)
() y=(x?+5x+86)(x>-3x+8)
) y=3"+x>+3x+3
(d) y:4u3 and u=38x>+5x+1
4. (a) If the function f:R—R be given by
f(x)=x2+2 and g:R—R be given by

g(x):il, find fogand gof. 10
x_

(b) Explain cost function, revenue function

and profit function. 10

5. Calculate the amount and the compound
interest on ¥ 8,000 for 2 years, the rates of
interest for the successives years being 5% and

6% per annum respectively. 20

P.T.O.
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Part—B

Note : Attempt any two of the following questions.

6. Age distribution of 200 employees of a firm is

given below. Calculate quartile deviation

QS _Ql

— from it : 20
Age (in years) No. of Employees
20—25 10
25—30 25
30—35 75
35—40 130
40—45 170
45—50 189
50—55 200

7. Explain the concept of correlation and
regression and point out their usefulness in

dealing with business problems. 20
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8. On the basis of the following information,

calculate the Fisher’s ideal price index number :

20
Base Year Current Year
Commodities

Price | Quantity | Price | Quantity

A 2 40 6 50

B 4 50 8 40

C 6 20 9 30

D 8 10 6 20

E 10 10 3 20

9. What is a time series ? Discuss briefly the
importance of time series analysis in business

and economics. 20

P.T.O.
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P.T.O.
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WHT—3T
e : fafafea § 9 f=f 3 v &1 8 Sifsu)

2. W W ® ST wH GHe &
frefafaa gomell &1 8w @ fow Afgew

fafyr &1 ST wifsw . 20
5X — 7Y =11
T 7X-5Y =25
3. ﬁmﬁfﬁaﬁwg—y RIGREAS L 5x4=20
X

(F) y="+5)°
(@) y=(x?+5x+6)(x>-3x+8)
(M) y=8"+x>+3x+3

(%) y=4u® I u=3x3+5x+1
4. (&) AR weH f:RoR, f(x)=x>+2 g1 T
T ? 3R g:RoR, g(x):ﬁ g

WW%,ﬁfogaﬁTgofaﬁ
Hifsu) 10

(@) drTd ad, TS A IR N9 Fe F

A HITU| 10
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5. %8000 W 2 o % fou fasem 3R =ehals
ST i TUMT HIfSU| hideh oo & fau =
¥ HAY: 5% 3K 6% Ufd ad 2 20
W—a
e : f=afafed § 9 f=f I ww &1 8 Sifsu)
6. Th WH s 200 wHaE w1 g fawor =
fean T 21 sEe wgde famed @ Edl

TUMET I 20
Y (aut |) FHITIAT T G&AT
20—25 10
25—30 25
30—35 75
35—40 130
40—45 170
45—50 189
50—55 200

7. WEHSY SR YA i STUROT H GHALT
IR EwElie gEemst ¥ frued o 3e!
SYAITAr SarEu) 20

P.T.O.
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8. frfafed SHel & uR W, fAyR & 3Tt
A gAehish hi TUMT SHITST : 20

3 IR RIGECL]
R
hiHd | AT | ShiAA | HET
A 2 40 6 50
B 4 50 8 40
C 6 20 9 30
D 8 10 6 20
E 10 10 3 20

9. HT U RN T ? AU AR v § FHed
ot faveior & Hecd W 99 | == hifeg|
20
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